
https://www.passapply.com/c1000-056.html
2024 Latest passapply C1000-056 PDF and VCE dumps Download

 

 

 

C1000-056Q&As

IBM App Connect Enterprise V11 Solution Development

Pass IBM C1000-056 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/c1000-056.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

C1000-056 PDF Dumps | C1000-056 Exam Questions | C1000-056 Braindumps                                1 / 4

https://www.passapply.com/c1000-056.html
https://www.passapply.com/c1000-056.html
https://www.passapply.com/c1000-056.html


https://www.passapply.com/c1000-056.html
2024 Latest passapply C1000-056 PDF and VCE dumps Download

QUESTION 1

DRAG DROP 

What is the correct order of prerequisite steps to install IBM App Connect Enterprise on IBM Cloud Private? 

Select and Place: 

Correct Answer: 

 

 

QUESTION 2

What are two valid destination options for a Trace node? 

A. Events 

B. IBM MQ queue 

C. File 

D. System Trace 
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E. Local Error Log 

Correct Answer: CE 

https://www.ibm.com/support/knowledgecenter/SSMKHH_10.0.0/com.ibm.etools.mft.doc/ac04840 _.htm 

 

QUESTION 3

In Linux, what kind of syslog messages are reported by IBM App Connect? 

A. err, warn, or user 

B. err, warn, or info 

C. err, alarm, or info 

D. err, warn, or user 

Correct Answer: B 

 

QUESTION 4

What is the purpose of an Integration Node? 

A. It is a parent process which is responsible for looking after one or more associated runtime processes. 

B. It is a collection of processes to manage state of the deployed applications and libraries. 

C. It provides a specific mode of operation or the availability of an additional product, such as a database. 

D. It provides an isolated runtime environment for a set of deployed message flows and resources. 

Correct Answer: D 

 

QUESTION 5

What command must be executed before running the mqsicreatebroker command on Linux to create an integration
node? 

A. mqsiprofile 

B. mqsiservice 

C. mqsicommandconsole 

D. mqsicvp 

Correct Answer: A 

https://www.ibm.com/support/knowledgecenter/SSTTDS_11.0.0/com.ibm.etools.mft.doc/ae12720_ .html 
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